Start	Sem.1	2023-24							
College									
Now									
Course	College	Similar Course at Shiocton HS	H.S. Credit	College Credit	Cost	Number of Students	Total Cost	Paid By	Approved
Agricultural Marketing	FVTC	None	1.0	3.0	\$480	1	\$480	District	х
Pest Manag/Weed Identification	FVTC	None	1.0	3.0	\$480	1	\$480	District	х
Intro to Soils	FVTC	None	1.0	3.0	\$480	1	\$480	District	Х
Intro to AgriBusiness	FVTC	None	1.0	3.0	\$480	1	\$480	District	x
Intro to Ethics	FVTC	None	1.0	3.0	\$480	9	\$4,320	District	х
Math w/Business Apps	FVTC	None	1.0	3.0	\$480	1	\$480	District	х
Economics	FVTC	None	1.0	3.0	\$480	1	\$480	District	х
Intro to Sociology	FVTC/NWTC	None	1.0	3.0	\$480	2	\$960	District	х
Introductory Statistics	FVTC/NWTC	None	1.0	3.0	\$480	6	\$2,880	District	х
Intro to Diversity Studies	NWTC/FVTC	None	1.0	3.0	\$480	8	\$3,840	District	х
Abnormal Psychology	FVTC	None	1.0	3.0	\$480	2	\$960	District	х
Developmental Psychology	FVTC	None	1.0	3.0	\$480	3	\$1,440	District	х

Medical	FVTC	None	1.0	3.0	\$480	1	\$480	District	х
Terminology									
Gne Anatomy & Physiology	FVTC/NWTC	None	1.0	4.0	\$640	3	\$1,920	District	x
College Technical Math 1A	FVTC/NWTC	None	1.0	3.0	\$480	1	\$480	District	х
College 101	NWTC	None	0.5	1.0	\$160	1	\$160	District	х
Criminal Justice System	FVTC	None	1.0	3.0	\$480	1	\$480	District	х
Marketing Principles 1	FVTC	None	1.0	3.0	\$480	1	\$480	District	х
Business Law	FVTC	None	1.0	3.0	\$480	1	\$480	District	х
Intro to Corrections	FVTC	None	1.0	3.0	\$480	1	\$480	District	х
Public Safety & Wellness	FVTC	None	1.0	3,0	\$480	1	\$480	District	х
Principles of Sustainability	FVTC	None	1.0	3.0	\$480	1	\$480	District	х
Intro to Forensic Science	FVTC	None	1.0	3.0	\$480	1	\$480	District	х
Understanding Addiction	FVTC	None	0.5	2.0	\$320	1	\$320	District	Х
Number of	18					Total	\$20,112		
students requesting:						Approved:			

Early College Credit Program					Cost	Number of Students	Total Cost	Paid by	Approved
US history 1865-present	UWGB	None	1.0	3.0	\$870	1	\$870	District	х
Intro to Philosophy	UWGB	None	1.0	3.0	\$870	1	\$870	District	х
Varieties of World Cultures	UWGB	None	1.0	3.0	\$870	1	\$870	District	х
Foundations of Western Cultures	UWGB	None	1.0	3.0	\$870	1	\$870	District	х
Intro to Theater Arts	UWGB	None	1.0	3.0	\$870	1	\$870	District	х
Intro to Film	UWGB	None	1.0	3.0	\$870	1	\$870	District	х
Intro to Humanities	UWGB	None	1.0	3,0	\$870	1	\$870	District	X
Number of students requesting:	1				* A portion of ECCP expense	Total Approved:	\$6,090		
					is paid by the state				
Distance Learning									
American Sign Lang 1	NWTC	None	1.0	3.0	\$480	1	\$480	District	х
Number of Students Requesting:	1					Total Approved:	\$480		